P8 - 1x

SM8 - 1x
PP8 - 6x @
_ PP12- 14x (A, 1)
MI2 - 6x (A, 1) PP12-16x (C, V)

M12 - 4x (C. V)
s PR14- 1x BP360 - 4x
P8-6 X8 - 2x
M8 - 2x ORIGINAL] i

M8x40 - 1x
M8x30 - éx
M12x30 - 4x
M12x40 - 2x
M12x70 - 2x (A)
M12x90 - 2x (1)
M12x19 - 4x (C)
M12x20 - 3x (V)
M12x25 - 1x (V)

MI12x19 - 4x

8 ORIGINA M8x30 M12x30

M12x40

M12x20 (10.9) - 2x
110 Nm

MI12x70 - 2x

| MG HS, MG EHS ﬁ
AlIC 400 12 2 Kéd: M1485(A,1,C.V) - 18. 5. 2023




